
ASSEMBLY & INSTRUCTION MANUAL

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

INbia036V02_UK_FR_ES_DE_IT

INbia036V02_UK_FR_ES_DE_IT_84A-140_84A-140V70

270kg



1



2



3



4



5



6

M8X105

M6X60 M6X85 M8x110M6X80

A  2 B  2 C  1

E  2 F  1 I  2H  2

J  1 K  2 L  2

M  1

J1  1

N  3

P  2 Q  2 R  2 T  4

U  2 V  8 W

X

Y  2 Z  4

AA

BB  1

W1

M6  6

M8 14

M6  6

M8 14

M6  6

M8 14

M6  1

M8  1

M8X75



7

02

01

W  6

W1  6

M6

M6

X  6

M6

M6*60

P  2

R  2

M6*85

Q  2

M6*80

T  4

M8*105

M8*110

M8

M8

W  6

X  6

W1  6

M8

U  2

A
B

C

X
W

T

X
W

U

W1

Z

T

W
XU

W1

W
X

W1

F

E

X
W

X
W

P

R
Q

X P

R
Q

WW1

W1 W
X



8

M6*75

V  8

X  8

M8

W  8

M8

W1  8

M8

J1

J

I

I

X
W

VV

X
WW1

04

03

H



9

06

05
K

Y

M

L



10

08

07

N

D
one


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11

